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Topic:- Child Development & Pedagogy (CDP)

1) The least important reason for assessment in a child-centred education is / dTd-hiead

& & FeATHA FT G FA HAgcdqol FROT &-

1. monitoring their progress toward those goals / 3T &&T T 3R IoThl YT hr fAIRTAT
el

2. active engagement of students in setting goals for their learning and growth / 3T 3181

IR A & fav oeg RAuiRa & 7 ol f a@fhg drefiery
3. determining how to address any gaps / Toh&T 87 37Tl &I H&IfSd HIA Fr YR
4, learn core content knowledge and skills / HET el AT 3R Fiera

Correct Answer :-

« learn core content knowledge and skills / H&I et AT 3R Pl

2) How is aptitude distributed in human beings? / AT afa & yma;ﬁr FE 9w &
fafa &2

1. The distribution is normal. / fTdcRoT AT g1

2. The distribution is scattered. / fTdaRUT 3redeaed gl

3. The distribution is skewed. / faa<or fawd 1

4. The distribution is multifariously. /ﬁFR'UT %%HHTQ‘\{UT %’I

Correct Answer :-

« The distribution is normal. / fAdRoT AT %’I

3) The mental representations or ideas about what things are and how we deal with them
are called / 1§ I 74T ¢ 3R &7 39% W0 F& yAER F §, 39 RAww § 399
I3 ARAF YfawT a1 fAaR # F1 A 8

1. Constructs / TATOT



2. Networks / scdeh
3. Schemas / T&hIAT

4, Structures / GTIAT

Correct Answer :-

« Schemas / ThrAT

4) In a classroom of 15 children where you have 15 different learning styles and 15 different
personalities, child-centred teaching is: / 15 d=aY Y H&T H FgT IS I 15 el
e W Y Aol 3 15 s AfFdeg I a9 €, ara-Hfega Riator:

1. Developing one lesson plan with one mode of teaching / T f&TOT YUTTell & ATY TH IS
AISfel faeh T e

2. Developing a lesson plan by looking at every child and what his or her needs are / Icdieh
g<d &l TR Teh UIS il AhfAd dl &, b 3HPT SR FAT &

3. Developing a lesson plan targeting the middle of the class ability wise / &&TT FT &THAT &
HEY T AR I U Teh IS ATl fapfdd el

4. Developing a lesson plan that fits all / T 9IS Tlelell dhiAd Xl g, of T & v
39ged gl

Correct Answer :-

« Developing a lesson plan by looking at every child and what his or her needs are / Ycdeh
g Pl TR Teh UTS Jloldll Ahiad Pl 6, b 3R I FIT gl

5) The theorist remembered as the "Father of Progressive education" is / "Serferefier fram
¥ JaF" & T A I1g e S g Rguiaer -

1. Friedrich Frobel / Waer Whider
2. John Dewey / SiTel $\é’

3. Jean Piaget / SfieT TS

4. Graham Gibbs / IgH Fred

Correct Answer :-
« John Dewey / STl 5\73

6) Piaget named potentialities and abilities as: / AT & &7AaT3T 33X WeIat =« T8
e o g



1. Schema / T&hT#AT

2. Accommodation / EHTAISTT (THIHSLI)
3. Ego centrism / 3IghegdlTd (39N AfegaH)
4, Assimilation / 3TTcH3IAThIOT

Correct Answer :-

« Schema / ThTHAT

7) In Discovery Learning, the teacher plays the role of a of learning. / 3/=dYoT
(FeEmad)) AR A, et A F van 1 s1farenT foremmer €

1. Counsellor / HellgahIX
2. Facilitator / SHeddh
3. Manager / JatTeh

4. Inspirer / U

Correct Answer :-

« Facilitator / SHoddh

8) Special Education is related to : / ey faram C2ar: ) wafaq §:

1. Training programmes for gifted children / SfdTemel s=al & farw gferayor COpEr)
2. Training programmes for teachers / fr&Tenr o forw wferetor HIIhe

3. Education for talented people / TSRS olel & forw fRrem

4. Educational programmes for disabled / fderelralt & forw Aferr FIwH

Correct Answer :-

« Educational programmes for disabled / TA&aI@ll & forw e FrIwa

9) intelligence is associated with faster development / CHELGGL
daer fww & 31 2

1. No intelligence / g gﬂ'ﬁ' Tl
2. Medium Intelligence / H#EIH ﬂaﬁ

3. Higher / 3T



4. Slower / Aig.

Correct Answer :-

« Higher /3=d

10) How do learning theories characterize the role of the parent in their child’s
development? / 38T R, ATar-Rar 7 sfAwr F 3aF T=a F Rew 7§ @
Rfrea Fa 82

1. As trainers / If18Tehl o ¥ H
2. As teachers / f1&TeRT & & H

3. As partners / PNGRT & &I H
4. As supporters / THYHT & T 7

Correct Answer :-

o As trainers / 9T21eTh o §T H

11) Sociometric analysis of a group is used in measuring personality as a/an

method. / T THE & FATSATT fARWAVOT &1 IUANT FfFdca H fafr &
T & A & A A S g

1. Observational / Y&T0T

2. Objective / TEITS

3. Subjective / cTTFdASE
4. Projective / F&IdY

Correct Answer :-

« Objective / ER—T:lDﬁTVé

12) According to Williamson, which of the following is the benefit of Directive Counseling /

fafdaaws & squR, Aefaf@a & @ sl e w1 anr 2

1. Emphasis is on the intellectual rather than the emotional aspect / HTdelTcHs Tgel & Tl

diefter 9T SR fear ST B

2. Does not guide counselee to be efficient and confident / $RTel 3R 3meaEd g & fau
WA o dTel & ARG el HdT Bl

3. Make counselee dependent / WAL ol aTe T TR F7=T)



4. Kills the initiative / 9goT &I adTAT

Correct Answer :-

« Emphasis is on the intellectual rather than the emotional aspect / HTdelTcHS Tgel & Tl

g X SR f&ar Smar Bl

13) Orthotic devices are designed primarily to J 3iryffesd 3gsIo #Y AET T
) % fav RBemga frar = B

1. None of these / 318 & IS =TgT

2. support a body part / R & 33 & FHIT So¥

3. repair a body part / R & BEH I AFAT el

4. replace a missing body part / =T glel aTel 3191 I 918 ofdTlet

Correct Answer :-

« support a body part / R & 30T I AT ol

14) Assessments regarding the outcome of students’ learning is known as

assessment. / BT & AT F aRomA F R & e H Hediwd &
T # ST AT B

1. Diagnostic / =igTfeieh

2. Benchmark / STHTh

3. Formative / {dellcHD
4. Prognostic / fogreT

Correct Answer :-

« Prognostic / g

15) Which of the following orientations falls under the stage of conventional morality

according to Kohlberg? / @afaf@a & & &l @ Aol (3NRTeesT), Prgaedr &
AR TRAReE Afaswar & =@xor F Hada Arar 82

1. Orientation towards punishment and obedience/ GUS Tg 37T & 9fa W
(3MRTeere)

2. Social concern and conscience / GTHTTSIE Wﬂﬁ IR A=
3. Morality of universal ethical principles / aasifAs Afas H\(WIT I Afehar



4, Instrumental purpose and exchange / Hglddd 3%@1 3R fafmg

Correct Answer :-

« Social concern and conscience / TTATIOTHR H’é‘lﬂ'ﬂﬁ IR A9

16) Which of the following is not an example of extrinsic motivation? / fAFifaf@a & &

Pl ITETROT FT IgEI0T AL §?
1. Salary / ddel

2. Praise / 9T

3. Passion / Sfe]sT

4. Promotion / Uglealid

Correct Answer :-

» Passion / Slefel
o BN

17) Which of the following is TRUE when the teacher engages in Guidance and counselling

of children with special needs in school education? / Siaf &t ﬁa:mmﬂ fram & Ry

HTARIHATIHT aTe Feal & AR 3T WHY & cavd WA &, T & & F1 ¥

82

1. Teacher’s own professional growth is evident / /&7 &I IAT cATaATASh TAhrd TISC
gl

2. Teacher can get rewards, recognition and promotion / f216T6 icaTgeT, AT 3R YgleaATd
a7 dohot gl

3. Under the teacher's guidance, students will feel secure and more engaged in the learning
process. / f1eTe & #ARTENT H, o7 31 & gfehar & ﬁ?ﬁi\qﬁ 3R 30w egea
AGHH |

4, Under the teacher’s guidance, students get special attention./ T216T & AT H, BT &
Ay 3@ ured g g

Correct Answer :-

« Under the teacher's guidance, students will feel secure and more engaged in the learning

process. / T8 & AN ﬁ,mmﬁmﬁgﬁ%aﬂ?mw
AEGH HI|

18) Which of the following principles refers to the understanding that objects continue to

exist even when they cannot be sensed? / fFTfaf@d HA G #le @r ﬁ{%ﬂﬁ $H HHS &I



Hefita FXar § B avqu a9 ot Aleg wh § 99 35 @ A e @ fwar o
HHT?

1. Conservation / TI&TOT

2. Object permanence / IE] TaTRica
3. Theory of mind / Hel ohT ﬁl?{'iﬂ?r
4. Animism / Sffgdrg

Correct Answer :-

« Object permanence / T&J U

19) Thorndike theory of trial and error learning has emphasized the importance of

./ YIeT-FfE HfterT & aeisEE R & & Agcd W SR

feam 21

1. Motivation / 90T
2. Rewards / QUEPR
3. Praise / 91T

4, Punishment / G3

Correct Answer :-

« Motivation / IO

20) Punishment and rewards are the components of .18 3T WicaEd
% geHh g

1. Behaviourism theory / SddgRdIq ﬁl’a}’:TI'H

2. Design-Based Research methods / f3SIga-3menia 3-1?1??11?[ fafer
3. Humanism theory / Alladrdrg fagurd

4. Connectivism theory/ HITSThdT AU

Correct Answer :-

« Behaviourism theory / SIdgRdlG TaeHTd

21) Child-centered education uses / STcl-hfgd AT fAFT T ITFT FIAT %:

1. Divergent exposure / [afaer gl



2. Year-end appraisal / a¥-37d ?Fl“mil'lm
3. Linear exposure / T 92T
4. Disciplinary force / 3e]RMTHATcHD Fel

Correct Answer :-

« Divergent exposure / Tafaer geeTe

22) OCD denotes: / 3TES FT 37T §:

1. Obsessive Conduct Disorder / 3iTe0fad Hhaae BT

2. Obsessive Compulsive Disorder / 388 Fqiedd T3S

3. Oppositional Compulsive Disease / 3TNToeleTel hFdledd 3T
4. Oppositional Cognitive Disorder / 3qifSee Fiesifea BE3iTsT

Correct Answer :-

« Obsessive Compulsive Disorder / 308 Feufeda BEET

23) The same-sex friendship prevails during VE:CICACOCEG & g
yafaa gt 8

1. Early adolescence / URTAS TheiRmaTar
2. Early childhood / YR8 Sa9eT
3. Late adolescence / AL TehenRTa<€m

4. Late childhood / ALT dd4ed

Correct Answer :-

« Early adolescence / URTAS fheirasar

24) The flexibility of children to adjust to any circumstance is known as ./ T st
Rftufa & gaoa @ a a4t & addua &t & T H AT AT

1. Rigidity / T&dl
2. Desirability / aT&ei1adr
3. Inability / T&THAT

4. Plasticity / TeleT2iTeldl



Correct Answer :-

« Plasticity / &eleTeiTerdr

25) What IQ score tends to identify gifted children? / Sfasimemell a=al i ygdarT HI &
FIF-H1 JEFY FPR Tged g 87

1. 170 or higher / 170 T 318
2. 130 or higher / 130 IT 378
3. 70 or higher / 70 JT 378

4. 120 or higher / 120 3T 37+

Correct Answer :-

« 130 or higher / 130 3T 3

26) What type of response is learned through the process of classical conditioning? /
A ITaera (FeTfAher HIATAT) T gfFar & Areaw F Fw gawr A gfafea
e Fret 82

1. Unconditioned response / ygﬁvraaa: gfafear
2. Reinforced response / Yafeld 9fafshar

3. Conditioned response / a'l?l'l?lﬁf%l?—f grafshar

4, Neutral response / deEd ATcfshdT

Correct Answer :-

« Conditioned response / aﬂ@'ﬁjﬁ'ﬁ EIGIER

27) The best method to study growth and development of the child is / f&dt
T @Y e 3R e 71 rvae T 1 gafeawr ada T @

1. Comparative Method / Jelelicaeh fafer

2. Developmental method / faerarcas fafer

3. Statistical Method/ @ifEIhT fafer

4. Psychoanalytic method / #AIfa2evuTcAs® fafer

Correct Answer :-

. Developmental method / fasrarcaAs fafer



28) Hierarchy of needs is an important perspective of motivation was propounded by / TFRIRATHT
FT YSTTHHA, IO FT TF Ageaqor IR ¢, O g% gamr wfawfea fram o o

1. Maslow / ATEAT
2. Piaget / OIS
3. Pavlov / 9Tdelld
4. Freud / 1IS

Correct Answer :-

« Maslow / #ATEST

29) Which of the following operations helps us to validate information? / &I faf@d A &
i W - (M) & TTTFR) FY AT T & A FLAl 8?2

1. Evaluation /EFJ\FJW

2. Divergent thinking / 379aRT =i
3. Convergent thinking / 3TTRERT ideT
4. Cognition / T31TeT

Correct Answer :-

» Evaluation / HedTehel

30) Among the following, mutual support is found more in/ fAFIfaf@d ¥ ¥ TREIRF
Hegader suH 3¥F g S @

1. Groups / €¥g
2. Teams / €T

3. Society / HHATST
4. Classrooms / haTTITE

Correct Answer :-

o Teams/&IH

Topic:- General Hindi (L1GH)

1)



fR-9R 9 $© Ted 38T 81 TH A3 Sia--Qell U1 gued R H €} 81 ITP A1Y 317 38T © TS =41
a1-g=M-IUUIFaTaTe BT i1 SWIEH e IR 9k § IRI 3R | I8 IcUTe IS Y 3; 3Tud Wi &
e B, onud g@ & Y 31 ' &Y saran gqd S 31 SUUN-UNT ) g9 B | TP &H I5aTd Tl § 7%
fRufa & Iaure at emud 1T 8, IR 39 I8 Y@ oid & % SH-3Fem 3o & a1gta | Syt afes oft
¥ad 781 € ¥ 31U Iaure &I FAffd ga o ) §

farenfRyar 5t Il / TR URT UST B, S SMUH! gUA P ofl-ds IR & e @t e §1 e
Sia o 17 314 aTelt axgail 31 g1 ATl gy-URe afgu? gg gidl &1 Aidl ST IuStar a1 8, 98 Ue
Pt gIlY geTaT 3| UT TSI B HOgd T § MY Ig "Iul TR&T 3T 81 98 9d HRP ol diF-9R IRe
STT-3MTT Hd &, fhel Ve &1 A’ Bidar 81 $Ig 99a a1 A1 & TON F WP &, BIg BY-gial
GRT WP U7 917 F1efa 3R @it el | 941 81 S d1e g7 Aforg ) afe 9w area1 8, ot = +ft ereot
BT IR | PR, T, g1aE, Ugd SR WIS Pt &HdT | HEHT-3AT, T A gHh? U | Yg DI iy A
TTA & e ey arwr WY Tnfee ) R oiv oft et 8t Tt ®; wR saet € el &1 faa wrw T3t 8t S,
HfP ST 2MaS ggfagiia o Pt sis § T wig w31 Aded wares ot s @ a0pd F &+t
qreft 3-8% HIE IHA TA-T4 I<UTE FSd A1 &1 Wi 81 3R, U A gol G B, g W vl | TP
TR MU IRR B TRY-ATeT ITT 8, GERT G ApdaT 7, FRT ot I Ut 3¢ Har 81 98 diforg
R wrd & Higd &1 Tgw, 37®T H-uRie AIg- | g=Ts b1 3 Jug argd 8, 98 difoe | IR &t ufam
TG 184 &1 T8 AT Y o | a1t A1 | TR o) T 1A & e ag difve-ugft @, wR smud
%ﬁ'ﬁﬁ'ﬁ'@'\rm%ﬂl#mnﬁmaﬁaﬂéﬁwmwm-mmaﬁﬁﬁmmﬁmm
|

ST TR BT UgHR -1 IS TT YA BT Ik Jarse|

U= 39 SGATd A ST T 969 8T § S} 37 frwet aafdfa g1d &1 33 &2
1. IRA SR ITE

2. 79 3R 98

3. dicd iR g9

4. Sia-2relt 3R g@

Correct Answer :-

. IRA 3R IdG

2) §R-IR 99 PO 9¢a @1 21 TP 5 Sia=-2ell YT aoied ST HX I8! 81 SHP Y 31T 8T & TP
741 Sftaq-gxF-IuHeTarG &1 ¢ | I 9¢M W Wk § IR} 3R | g IATeH 3P fore §; 3mud
W F g 3, oimuds g9 & g 31 g &1 saren 9ed TS 81 SUUNT-UI § 99 31 U g deard
3T ¢ % fRufa #1 It @Y 3mudb forw 8, R 3y 9 Y& oiTd & fob SM-3FeTH 3iTSl & HIgid o SiueT
IR WY Iga 3871 @ 3R 3ITY IuTe &) Hitd gl SR g1

faarRrar &Y Gl | IR W1 UST 8, S STUS! gUH $1 oil-als SR & fFRaw aft el 81 e
Sitas § 1 3= Tl axgsi i g o gy-URe a1f3u? 98 gidl 3t Hidl ST IHS AT 99141 3, 98 Us
Pt gIY TeTaT 3| UT TSI B AU T § 3NY Ig "IUI GR&T' 3T §1 98 99 HRP ol dH-9R e
SET-3(TT Fd &, fpet U &1 ‘A’ Bidar 81 g a9a a1 19 & JoN F R 8, HIs B-gHal
TR TPpd T4 AT Tl 3R @il dwl & o1 31 51 =8 g7 eifore | afe 3 3rea1 @, df g1 Wt sreot
BT AT PR, M, TTdE, UgT 3N WIS DI &HAT | SET-3ET, Th & Jeh UH | e P gy A
T & o ey ar=r Y wfge R ok oft ddlt Bt It ]; R 3ant € il &1 faw wrwl T3t 81 S,
ifP 39 A ggfawiia 3R Piadt sis & @ie wie o3| Wied yare=i @t s o 90pd 2 ot
qrefl 3-8% HIE IHH TA-T4 IUTE FSd o1 &1 Wi g1 IR, U A gol G 3, g W vl | TP
YR MU TRR B aRI-ATeT W1 8, GERT U AhdaT g, FHaRT ot I STIB! I&MT Bl 81 9§ Aiforg
R wrl & died &1 35, 39T A-uHe A1 | TS BT 3 U 9184 €, I Aifore | IRR ) ufdw
@ 9184 € | Ug oI Y 7ord § g1 JigH | gwdt @) 79 T & fore gg Aifvre-wgiht 8, R snud
%ﬁ'mfﬁ'ﬁtmméﬁlﬁmnﬁmﬁﬁéﬁnmwm-mmaﬁvﬁﬁmmamm
|



ST TR HT UgHR 12 ID T YR BT Ik Ja1gC|
WRH: SUHIIT BT FIT YOI GR&T a1 82

1. ATSY-aT=

2. 9IS M

3. QYU

4. QY-S

Correct Answer :-

. TYWE

3) MR- 99 $© g T6T1 81 TP A3 SHa=-iel U1 geia RATUT R I8! 31 SHP 1Y 311 38T 3 Th
471 Sfig9-3=fF-IuHdrare &1 <3| SdTeH 9 W Wk € IR) 3R | 98 SdTe MU e §; 3musd
URT & T &, 3 g@ & Y ] 1 '@ 3 ARen 9ad 7S 81 STHNT-UNT € Y& 21 TP G&H deard
3T g 1S fRufar #1 Iaure ot smud fore €, w3y g Yo 91 § fr wM-3FAw A et & Aretd # SmuehT
it WY 95a Y87 © 3R U Iaurg ) FHitd ga &I 78 €1

faenfRyar $t 9l ¥ TR URT UST 3, S DT gU Pt ofl-drs BT # FRar @t wdt §1 e
Sita o w17 314 areft axgait 31 g ATl gy-Uke @ifgu? gg gidl &1 Aidl ST IuStar s €, 98 Ue
Pt gy geTaT 31 UT TSI B AOgd T & SNX Ig "IUf TR&T’ 3T 81 96 99 HRP ol diH-IR e
ST-3(TT Hd &, fhet U &1 A’ Bidar 81 $I5 a9a a1 A9 & 0N ¥ WRPR &, HIs BY-giHal
RI Wpd a1 9= gEd MR Wi acl A S 81 & 918 g eiforg| afe 9 oreat 8, af g=1 °ff sreat
BT 91T | TR, T, I1GE, Ugd 3R HBTS i &HAT H SHTT-3HT, TP o TgHR U | §g i gy A
T & e ey arwr W Tnfee ) R 8iv oft et 8 Hpell §; WR gaet € <fiel &1 f9a Srw TsT 81 S,
P 3Ty TG Tgfaia 3R Fadt s € TWie wdg &3 | Wed yaru=t $t fts o avepd &
qTell B-8% UTE S T4-14 SIS JSd oTd & | AIg &1 A, U & goodt YUY 8, g A a1 TP
TR 3P TRR B TR-ATe W1 8, GERT U AT AbaT 7, FHRT SRl | Ut 3¢ Bl 81 98 ifore
R Rt & Wed &1 Y53y, 3991 A-uHe A1 | TS B 3 U 9184 §, IE ifore | IRR ) ufdw
@ IT8q € | U8 e Y 7imera & a0 I1ge | gudt @) T v & e g difSre-ught 8, wR snuds
%ﬁa&ﬁﬁﬁwmﬁmmnﬁmaﬁaﬁgﬁmmwm?ﬁvmaﬂﬁaﬁmmﬁmm
|

ITYe TR BT UgHR 9 IR T U= HT Sk gd15¢|
U= afe gy-URe 33T 81, <t SR T a1 BT AIRe?
1. %g arer

2. A

3. TS

4. AT3Y-ATA

Correct Answer :-

4) - 99 $© 95T @1 8| TP % Siia--2ell U1 Teva AT H & 81 TP 1Y 3T IeT 8 TP
741 Sftaq-gxiF-3Iuiedrarg &1 ¢xiH | IATEH 9¢M W R § IR} 3R | g IUTeH 3MUP fore 8; 3mud
U & T 8, Smus g@ & e 81 g’ 31 saren 95a 718 3| STHNT-HT € g9 71 TP J&H Sgard



3T ¢ % fRufa #1 Iaurg @Y 3mudb forw §, R 3y 9 4@ ord € fob 9M-3FeTH ST & HIgha | SiueT
Tfea it 9ga 78T & SR 3Mu Ieute Y gHifd g ST e 2

fararRyar & Il | IR HRT UST €, S STUS! g $1 oil-als HIRm & fFRaw aft el 81 e
Sitas ® 1 3 arelt axgsi &t g v gy-tke Mftu? g7 aral & Aidl ST IuStar 9911 3, 98 Us
1 gifY geTaT 81 UE AYS! B AVIgd $eal @ 3R T8 “quf RaT IqT 81 98 9E P Sl diH-uR e
T ET B &, foredt W &1 Ao’ widar 81 #15 a9 a1 19 & 7oN & WRQR 8, Bis »-gfat
RI Wpd a1 9= g9 3R Wi dcdl A 5991 81 i 918 g ohifore| afe 9 oreat 8, oY g=1 off sreat
BT AT | TR, T, F1GE, U5 SR HBTS Pt &HAT H HET-3T, U J g U | §g DI iy A
T & fore urey arwn oft anfew | R 8k oft &<t 8t et 3; W gant € e @1 faa St ws1 8 e,
Hife 39 TG Tgfaid 3R Sl i 81 Wi udg o3 | Higd wneAl ot Wi df a0epa o &t
qrell 3-8X WTE SHA -7 IATE JS4 W14 81 Mg &1 &, T ¥ goal WY B, g A a1 T
AR MU TRR B aR-ATeI W1 8, GERT G At B, FRT ot  uat 381 Har 21 98 sifore
R wrt & Hied &1 Tgw, 37®T u-uRie AIgH | TS b1 3 JugET a1gd 8, 98 difoe | IR &t ufam
TG 184 &1 T8 AT Y[ TS | g1 A1 | THS D) T 1@ & e ag dfvme-ugift 8, w) smud
%ﬁ?{d’ﬁ'ﬁ@wmﬁlﬁmnﬁmﬁaﬁéﬁﬂmwm-mmaﬁﬁﬁmﬁmﬁmm
|

STYeRT T B UGS A1 D T U PT SR A15¢|

w: for ot 1 wfgensi &1 SRAT Coa W o Hiaa ot 9 gidl 82
1. T 3R A IR

2. AL 3R &H gaR

3. faFeraet 3R & T

4, 3Tg ALY AR T

Correct Answer :-

. guig 3R A9 &R

5) §R-R 99 PO 9¢a /T 21 TP =5 Sia=-Lel YT aoied AT HX 6 81 SHP Y 31T 8T & TP
741 Sftaq-gxiF-IuHigTare &1 g3 | AT 9¢M W Wk § IR} 3R | g IATe 3P fore §; 3mud
W F g 3, Siuds & & e 31 g &1 e 9ed s 8 | SUUNT-UIT 8 99 3| Us g Jeard
3T g % fRufa #1 Iaurg @Y 3y forw 8, R 3y 9 4@ oiTd @ fob SiM-3FeTH 3iTSl & HIghd o SiuaT
IR ft 9ca TeT 8 3R 31U IuTe &) JHffd gd =T ¥8 &l

faarRrar &Y Gl | IR YT UST 8, S STUS! gUH $1 oil-als SR & fFRaw aft wd@ 81 e
Sitae § 1 3= Tl agei i g1 Ao | gy-URe 1f3u? 9% qidl 31 Hid! ST IHS AT 9141 3, 98 Ug
Pt gIY TeTaT 3| UT TSI B AU T § 3NY Ig "IUI GR&T' 3T §1 98 99 HRP ol dH-9R e
SET-3(TT Fd &, fpet U &1 ‘A’ Bidar 81 g aga a1 119 & JoN ¥ R 8, HIs B-gHal
TR WPpd T4 AT Tl 3R @il dwl & 91 31 51 =8 g7 efiforg | afe 3 3r=a1 8, ot g1 Wt sreot
BT AT PR, M, §TdE, UgT 3N WIS DI &HAT | SEHT-3ET, T & 9eh UH | Ye P gy A
T & o ey ar=r Y wfgu R ok oft ddlt Bt It ]; R 3ant € i &1 faa wrwl T3t 81 S,
ifP 39 A vgfawiia 3R Piadt sis & @ie wic o3| Aied yare=i @t s o 90epd o ot
qrefl 3-8% HIE IHH TA-T4 IUTS FSd o1d &1 Wi g1 IR, U A gobl Qg 3, g W vl 1 TP
YR 3 IRR B aR-ATeT W1 8, GERT U AhdaT g, FHaRT ol | STIB! I&MT Bl 8 | 9§ Aiforg
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P gifer geTaT 31 TB WIST B! Uogd HdT ¢ 3R U8 "QUF Y& a1 81 98 W9 Y& ol diH-9R U
ST IET Ha &, foredt W &1 Afvre’ widar 1 #15 999 a1 19 & 7oN | WRQR 8, BIs »-gfat
RI Wpd a1 9= g8 MR WA dcdl A 591 81 & 918 g <ifore| afe 9 oreat 8, af g1 off sreat
BT AT 1 TR, T, I1GE, U5 SR ABTS Pt &HAT H HET-3T, TP o g U | §g DI iy A
T4 & e ey ar=r Y wfeu) 3t ofv oft |t Bt uwdt ]; R gaet €1 i &1 faa wrw 33T 8t e,
Hifd MY TG TEIAFIT 3R P TS § WG ydg B3| Higd yae=i ot s @ a7epa o &t
qrell B-8% HIE IHH TI-T4 ITG ISd WTd &1 Wi g1 IRAY, o A gohl G &, g W vl 1 TP
AR MU TR B aR)-ATl AT 8, GORT GHHT bt 8, TRRT &R & MU 781 Ha1 81 98 difvre
R wrt & Hied &1 g, 37®T w-uRie TIgH | TS b1 3 JugET a1gd §, 98 Ao Ik &t ufam
TG A184d &1 TE AT Y[ TSTd | g1 A1 | IHS) B 7 1@ & e a8 difve-ugif 8, w) smud
?ﬁﬁﬁ@wmﬁlvmmﬁﬁwmwmmmﬁﬁﬁmmam@hﬁ
|

ST TR BT UgHR 1Y ID T YR BT IR qa1gC|
U: JUHIT 95 F SR fHaas! Are gqd T8 22

1. SUHNT Bt

2. 39 &I

3. g@ Rt

4, IdTe B

Correct Answer :-

. E D

16) fHa= yrmfore o1 Ia®T g
ASH! B gF A A T

S 98t St sifaw gsh &
asat ot Tt gt <At

3ft gat Hieh WRa ot

5 S @ BT STURT BhaT AT
AP g Fra=T =1EY Sram AT
Ife®T A a8 Yud yaTr B
PO T SR auds ufwTal Bt
ot A g1 Ul A STpd



3R AR F wa Hmn

3T Aifeal Jo & R @

e & forg TEt

T 3T ATYWUT R YA B @RE

F4 § wil-oiiad &

AT A BT ASH! BT

TR AP Rt 7w fe@rs &

ST UL DI UgHR A I 9 9T U= BT Sk Ia13¢)
w=: SfeaT g ¥ arg @@ 8 et §2

1.a§
2. Higell
3. Geal

4, WS

Correct Answer :-

17) fa= yrmfore U1 I9®T g
ASH! B gF A A T

S 98t St sifaw gsh &
as@t nft Tur A <&t

3t gaett el wRa A

5 S @ BT U BhaT AT
AP g Fra=IT =TEY Sram AT
Ife®T A a8 Yud yaTr B

FO gl SR auds ufwTal Bt
AT A H71 U | FlHD

3 AgY F wa fgrrn

3T JAfeat FpA & forg @
wieH & ferg et

T 3R YU TP YAl Bt TRE
Y9 § Wi-sfaT &

AT A BT ASH! BT

TR Ao St wa fears A



SWT UL B UgHR A1 IS 9 91 U= $T Sk 93¢}
Y : SITd-SITa AT 30 31 B Fg 1 S TS 82

1. TEEd

2. U

3. gt

4. QTATA

Correct Answer :-

18) a1 yrmfore uT Iu®T g@
TSP I o A I T

o Tt Swet sifaw gett 81

as@t vt T AE &t

3t gait it wRer <ft

5 3/ @ BT ATUT FhaT AT
AfB=T g Sra=Im 1Y 3imar o
ifs®T At a8 Yud yeTr o

TO go! 3R au dfeal Y

AT A $§T U | FlHD

3T AR F wa

3T AAfeat dv & fRw @

we & forg =Tt

T 3R STYYT AfGH YH B aXE
FU § T-Sitad &

|1 A BT ASH! BT

TR AP Rt 7 f@rs
IUYed U= B UgH? I YD WM 91 W= BT IR 9a15¢|
UR: S g ST A1 3ATaT YT, 99 98 fraat wifeer A2
1. 39T |afr r

2. %hael FT el A

3. el FS Ay dfFaat H
4. haol el Jehrl T



Correct Answer :-

19) fHa=m yrfore o1 I9®T g4
ASH! B &F § oA aF

o a8t Swet sifaw gelt 81

asat vl Tt AE &t

3oft gaeit et R <&t

5 S @ BT TURT graT AT
AfP=T g ST =T 3rmar o
uifeeT ot 95 dud gt B

$O TP R T Ufewal Bt

AT A $71 U | FlHD

3R A F wa g

M Al Fp & forg @

we & forg =T

T 3R STYYT WGP YH B aXE
Y § wll-oitad &

| A BT ASH! BT

TR s oIt A fGwTg A
IUYed U= B UG I YD S 91d Y= BT IR 9a15¢]
U: TSP Bt AT b TR, AW ATl Ao+ & forg 7 Afp= fora s & forg = &2
1. faere & fow

2. STl & oI

3. STellel & fow

4. TqTr & foIw

Correct Answer :-

o STolel & foT

20) fHaar yrfdres T I°®T &
TSH! PI & F ¢d g9
S T8t IT@! sifaw gl 8



as@t Il Tar A <&t

3t gaett el wRa A

5 I @ BT SATH e AT

AP g Fra=T =1EY Sram AT

uife®T N 98 gud UHTT B

FO T SR auds ufwaal i

|T 3 FET U | Fleax

3 WY | 7l S

3T Afeat FpA & forg @

wer & forg T

T SR STYYT AP YH B aRE

Y § wl-oitaq &

AT A BT ASH! BT

WR AP ot 7 fa@rg &

SWT UL H) UgHR A1 IS 9 91 U= $T Sk 93¢}
T=H: defPal W AR 5w die BT meRT AR a4 T 32
1. AATNS IS

2. ZgeT 3cdisA

3. 3MF 3cdiseT

4. AT AR

Correct Answer :-

o T IA™R

21) fHaar yrfores uT IH&T g
ASH! B &M § A aF

o T8t Swet sifaw gett 81
asat Il T AE <&t

3oft gaeit et R <&t

5 S @ BT TURT graT AT
AfP=T g ara=m 1Y 3rmar o
uifSeT ot 95 gud gt B

$O TP R Taa Uferal Bt
AT A $71 U | FlHD



3R A F wa fgmrn

3T Afeal do & R @

e & forg Tet

T 3N ATYWUT R YA B RE

4 § wil-oiad &

AT A BT ASHI BT

TR AP Rt 7 fe@rs S

IUYe U= B Ugh? I YR WH 91 W= BT Ik 93¢
u=: asat ol Tart T g o sueT | s @2
1. 378t ey dr wHST o grel

2. SicfOe 37aTHAT

3. IR A 1 g

4. ANIR& 3787HAT

Correct Answer :-

22) & yrifores U1 39@T g
ASH! B gF A A a5

S 98t S sifaw geh &
as@t nft Tar A <Rt

3ft gat Hieh WRa ot

5 S G@ BT STURT BhaT AT
AfB=T g Sra=TT =T 3imar o
Ife®T A a8 Yud yaTr B

PO gl SR auds ufwTal Bt

AT A $FT U | FlPD

3 AgY F wa fgrr

3T Afeat HpA & forg @
wieH & ferg et

T SR STYYT AP YH B aRE
Y9 § Wi-sfaT &

AT 3 BT ASH! BT

TR as@! St 7 fears &



SWa UL B UgHR A1 I 9 9T U= HT Sk 93¢}
U: g% 3R mywur f&ral & fore frast ave 82

1. ATATS T I dE

2. AR AT H RE

3. aifsgeh AT 1 @

4. RIS ST I e

Correct Answer :-

o feger HAT Fr RE

23) fHaar yrfores 1 Iu®T g
TSP I o A I T

o gt Swet sifaw gett 81

as@t vt T AE &t

3t gait it wRer <t

5 3/ @ BT ATUT T AT
AfB=T g ara=m =T 3imar o
ifs®T At a8 Yud yeTr o

$O TP R wa Ufewal Bt

AT A $§T U | FlHD

3R A F wa Hrn

M Afea Fpa & g @

we & forg =Tt

T 3R STYYT eGP YH B aXE
FU § T-Sitad &

|1 A BT ASH! BT

TR AP RNt 7w fe@rs 3
IUYe U= B Ugh? I YD WM 91 W= BT IR 9a15¢|
URH: 98 ga-i1 el < fr Rt w9 @t 37 erar A1 afea iR frast wwar wear et g sirar U2
1.g9

2. GaTAT &1

3.@Y &I

4. AT T



Correct Answer :-

24) fFaAr yrHres U1 ST g
ASH! B &M § oA aF

o a8t Swet sifaw gelt 81

as! anft war gt R

3oft gaeit et R <&t

5 S @ BT TURT graT AT
AfP=T g ara=m 1Y 3rmar o
uifeeT 8t 95 dud gHT B

$O TP R T Ufewal Bt

|T 3 Fg1 Ul B Fipa

3R A F wa g

M Al Fp & forg @

we & forg =T

T SR STYYT P YH B aXE
FU § T-Sitad &

| A BT ASH! BT

TR AsH! oIt A fGwTg &
IUYed U= B UG I YD S 91d Y= BT IR 9a15¢]
UR: AT A 7T B4 g 30 A W 7 H3A Ft Teftga &2
1. Imer #H oS

2.8 ¥ YhR

3. hEY H et

4, 9Ty F AR

Correct Answer :-

[

o Ul # Sl

25) faar urfre o1 ST g
TSH! PI & F ¢d g9

S agt St Sifaw yuht gt



as@t Il Tar A <&t

3t gaett el wRa A

5 I @ BT SATUT haT AT

Afh=T g Sra=IT =T 3fTar T
uife®T N 98 gud UHTT B

FO Tl SR auds ufwTal Bt

|T 3 FET U | Fleax

3 WY | 7l S

3T Afeat FpA & forg @

wer & forg T

T SR STYYT AP YH B aRE

Y § wl-oltaq &

AT A BT ASH! BT

WR AP ot 7 fa@rg &

STa U= B UgHh? A YR S 9Td Y= BT IR 93¢
WH: WY A A diell &) wit-siad &1 §U= F51 82
1. TRI8T 3R TRy

2. AT 3R FlT

3. 40 3R o@

4. 8T 3R TTOT Y

Correct Answer :-

26) fHaar yrIfores U1 IHST g
ASH! B &M § A aF

O a8t Swet sifaw geit 81
asat Il T AE <&t

3t gait it wRa <t

5 S G@ BT TURT graT AT
AfP=T g ara=m 1Y 3rmar o
uifSeT ot 95 gud gt B

$O IP! R T Ufewal Bt
AT A $71 U | FlHD



3R A F wa fmn

3T Afeal do & R @

e & forg Tet

T 3N ATYWUT R YA B aRE

4 § wil-oiad &

AT A BT ASHI BT

R AP Rt 7w fe@rs S

SWT UL Bl UgHR A IS 9 91 U= $T Sk Ia13¢}
T: | A TH Tl FgT {6 agH! g1 IR AsH! ol 7 fears ¢=m?
1. 39 |l

2. 319 9§ Had ISHUT D3|

3. el A B g AoR ¥ T

4, # TG & Toh 379 d§ Had GFAGR IRT |

Correct Answer :-

27) foaan yrfore u1 39@T g
ASH! B gF A A a9

S 98t S sifaw geh &
asat nft Tur A <&t

3ft gat Hieh wRa ot

5 S G@ BT STURT BhaT AT
AP g FraIT =1EY ST AT
Ife®T A a8 Yud yaT=r B

PO gl SR auds ufwTal Bt
|T 3 Fg1 U | Fleax

3 AgY F wa fgrr

3T Afeat HpA & forg @
wieH & forg et

T 3R YU TP YAl Bt TRE
Y9 § Wi-sfaT &

AT 3 BT ASHI BT

TR Ao St wa fears A



SWa UL B UgHR A1 I 9 9T U= HT Sk 93¢}
U= 59 Hfaar A sifaw Toit’ f6a w1 mar 82

1. §E &l

2. Al &l

3. Ucall &Y

4. TR-GaR &l

Correct Answer :-

o & F

28) fHar yrHifore u1 Iu®T g@
TSP I o A I T

o gt Swet sifaw gett 81

as! anft warh R

3t gait it wRer <ft

5 3/ @ BT ATUT T AT
Afp=T g ara= 1Y orar AT
ifs®T At a8 Yud g o

$O TP R wa Ufewal Bt

|T 3 Fg1 U & Fpa

3R A # wa

M Afea Fpa & g @

we & forg =T

T 3R STYYT Afgd YH B aXE
FU § T-Sitad &

| A BT ASH! BT

R AP Rt 7 fe@rs
IUYe U= B Ugh? I YD WM 91 W= BT IR 9a15¢|
WH: T8 & 91 91 37U+ AT 919 & g a1 51 Tt 32
1. U HAgHA

2. T fgEieR

3. %% el

4, TH RNeAER



Correct Answer :-

. U HgHAA

29) faer gIfors o1 WS g@
TSH F T A &S aFA

S T s difaw G @t

wsehr el mael A€ of

sl ot el W o

5 3% g@ F1 amemw gar o
AT g@ afeem gt 3TaT °ar
uifesT ot aF geud yHrer H

7o T AN FEwey A
AT o FgT T F ST

e X F F7G Qo

T AfEr da F e ¥

S ¥ e ad

a&x 3R merwor afeew st fr WE
guer § wl-sfiaeT &

AT F FQT ASH gream

9 ash ot A f@ré &
39YFd YGIIT Y IGH A & AW aTel TR FT 3ca} qaqrsv|
9eT: S Hfadl H 30 TF &I quid § T HiT HYAT I FT FeAET FT @ 87
1. T&h Al

2. Tk Ay
3. U dge

4. Ueh 317
9

Correct Answer :-

30) e WHATOI: o1 36T g@
TSH F G A &S aFA
S @@ 3 sifaw et @



s st |l AE o

sl gaelt s WX oY

& 3@ g@ @ amemw g o

afrer g@ digen gt Jmar ar

uifswT ot aF e yHwr f

7o g N FEeey A f

AT & FgT I F Fh

I A H A9 Nz

3mor ARt dwar F e

soa & faw a7t

aex AR mepwor afeew At A WE

gyt § wl-sfiasT &

Al o FET ASHT g

T aghr S 7T @ &

3YYFA TSI T YGH AT q&F S I WA FT 3cal IABTI
geel: 30 Hfadr # FT €27 &1 quia g2
1. FeTCTe T

2. 3oelclel hl

3. $iISTeT Gl &l

4, FEACIT &M

Correct Answer :-

Topic:- General English(L2GE)

1) Fill in the blank with the correct option in the given sentence:

--science is considered to the primitive science.
1. Retro--

2. Super--

3. Pseudo--

4. Poly--



Correct Answer :-

* Pseudo--

2) Fill in the blank with the correct option in the given sentence:
Thelocal ______ are always helpful to visitors.

1. resides

2. residential

3. residents

4. residence

Correct Answer :-
e residents

3) Fill in the blank with the most appropriate preposition in the given sentence.

The highest positions the government were held by two consuls who ruled the Roman
Repubilic.

1. during
2. at

3. for

4. in

Correct Answer :-

4) Fill in the blank with the most appropriate conjunction

I made it a point to visit the museum because
my ancestors.

of the artefacts there have been gifted by

1. none
2. much
3. many

4, little

Correct Answer :-

e many



5) Fill in the blank with the correct option from those given.

Activ-- demand laws for the protect-- of fishermen'’s properties and rights.
1. --ities , -ing

2. --ity, -ive

3. --ations, -or

4, --ists, -ion

Correct Answer :-

e —-ists, -ion

6) Read the passage carefully and answer the question given below:

Minimalistic living is the new millennial fad. Practising minimalism for the right reasons benefit
our lives significantly. It is ironic to consider minimalism in these recent years, as it is a lifestyle
all about living with less. The minimalist philosophy is to not accumulate unnecessary stuff,
living life on things that are existential and experiential. This type of lifestyle gives us financial
independence and time to work on our personal relationships. There are many resources such
as books, documentaries, podcasts that talk about the positives of living the life of a minimalist.
Everyone owns something that we can live without, getting rid of unnecessary things, helps free
space, allows us to live debt free, eat healthy and budget better. Whether we become a
minimalist or not, however having a few simple philosophies does wonder to your finances.

According to passage, the speaker encourages:

1. Having philosophies in life that will make you wealthy

2. Reading books, watching documentaries and listening to podcasts
3. Living a simple minimalistic lifestyle by buying fewer things

4. Condemning the people living a minimalist lifestyle

Correct Answer :-

« Living a simple minimalistic lifestyle by buying fewer things

7) Read the passage carefully and answer the question given below:

Minimalistic living is the new millennial fad. Practising minimalism for the right reasons benefit
our lives significantly. It is ironic to consider minimalism in these recent years, as it is a lifestyle
all about living with less. The minimalist philosophy is to not accumulate unnecessary stuff,
living life on things that are existential and experiential. This type of lifestyle gives us financial
independence and time to work on our personal relationships. There are many resources such
as books, documentaries, podcasts that talk about the positives of living the life of a minimalist.
Everyone owns something that we can live without, getting rid of unnecessary things, helps free
space, allows us to live debt free, eat healthy and budget better. Whether we become a
minimalist or not, however having a few simple philosophies does wonder to your finances.

Minimalists live a/an life.



1. rich
2. nomadic
3. spiritual

4. experiential

Correct Answer :-

e experiential

8) Read the passage carefully and answer the question given below:

Minimalistic living is the new millennial fad. Practising minimalism for the right reasons benefit
our lives significantly. It is ironic to consider minimalism in these recent years, as it is a lifestyle
all about living with less. The minimalist philosophy is to not accumulate unnecessary stuff,
living life on things that are existential and experiential. This type of lifestyle gives us financial
independence and time to work on our personal relationships. There are many resources such
as books, documentaries, podcasts that talk about the positives of living the life of a minimalist.
Everyone owns something that we can live without, getting rid of unnecessary things, helps free
space, allows us to live debt free, eat healthy and budget better. Whether we become a
minimalist or not, however having a few simple philosophies does wonder to your finances.

In the passage, wonder means?
1. wander

2. shock

3. think

4. miracle

Correct Answer :-

e miracle

9) Read the passage carefully and answer the question given below:

Minimalistic living is the new millennial fad. Practising minimalism for the right reasons benefit
our lives significantly. It is ironic to consider minimalism in these recent years, as it is a lifestyle
all about living with less. The minimalist philosophy is to not accumulate unnecessary stuff,
living life on things that are existential and experiential. This type of lifestyle gives us financial
independence and time to work on our personal relationships. There are many resources such
as books, documentaries, podcasts that talk about the positives of living the life of a minimalist.
Everyone owns something that we can live without, getting rid of unnecessary things, helps free
space, allows us to live debt free, eat healthy and budget better. Whether we become a
minimalist or not, however having a few simple philosophies does wonder to your finances.

In the passage, minimalism means? Living with:
1. Nno things

2. Minimal things



3. All the things

4, Small things

Correct Answer :-

e Minimal things

10) Read the poem carefully and answer the question given below:
Worth Four Crores

"(i) Not crossing the threshold
of those that disrespect you
is worth a crore indeed;

(ii) Not partaking of food
in the homes of those
that do not with full heart
invite you to do so,

is worth a crore indeed;

(iii) Expending crores even
in order to cultivate
association with those

of noble lineage

is worth a crore indeed;

(iv) Not allowing your tongue
ever to swerve from Truth,
even if you are offered

crores and crores as bribe

is worth a crore indeed;

A core value mentioned in the poem is :
1. Perseverance

2. Punctuality

3. Compassion

4, Truthfulness

Correct Answer :-

¢ Truthfulness

11) Read the poem carefully and answer the question given below:
Worth Four Crores

"(i) Not crossing the threshold
of those that disrespect you



is worth a crore indeed;

(ii) Not partaking of food
in the homes of those
that do not with full heart
invite you to do so,

is worth a crore indeed;

(iii) Expending crores even
in order to cultivate
association with those

of noble lineage

is worth a crore indeed;

(iv) Not allowing your tongue
ever to swerve from Truth,
even if you are offered

crores and crores as bribe

is worth a crore indeed;

Which word does not rhyme with bribe?
1. Pride

2. Tribe

3. Scribe

4, Vibe

Correct Answer :-

e Pride

12) Read the poem carefully and answer the question given below:
Worth Four Crores

"(i) Not crossing the threshold
of those that disrespect you
is worth a crore indeed;

(ii) Not partaking of food
in the homes of those
that do not with full heart
invite you to do so,

is worth a crore indeed;

(iii) Expending crores even
in order to cultivate
association with those

of noble lineage

is worth a crore indeed;

(iv) Not allowing your tongue



ever to swerve from Truth,
even if you are offered
crores and crores as bribe
is worth a crore indeed;

The speaker advises the reader to show towards those who are rude to him.
1. disrespect

2. hatred

3. respect

4. anger

Correct Answer :-

e respect

13) Read the poem carefully and answer the question given below:
Worth Four Crores

"(i) Not crossing the threshold
of those that disrespect you
is worth a crore indeed;

(ii) Not partaking of food
in the homes of those
that do not with full heart
invite you to do so,

is worth a crore indeed;

(iii) Expending crores even
in order to cultivate
association with those

of noble lineage

is worth a crore indeed;

(iv) Not allowing your tongue
ever to swerve from Truth,
even if you are offered

crores and crores as bribe

is worth a crore indeed;

The speaker says that core values are greater than
1. crows

2. corps

3. chores

4, crores



Correct Answer :-
e (Crores

14) Choose the right tag:

He has returned from Tumkur, ?
1.isn't he

2. has he

3. hadn't he

4. hasn't he

Correct Answer :-
¢ hasn't he

15) Choose the option that substitutes the given phrase appropriately.

A person who walks in sleep
1. Lunatic

2. Stoic

3. Lethargic

4, Somnambulist

Correct Answer :-

¢ Somnambulist

16) Choose the option that best combines the following two sentences.
People go out. They usually eat their favourite food.

1. People go out, so they usually eat their favourite food.

2. People go out but they eat their favourite food.

3. Although people go out, they usually eat their favourite food.

4. When people go out, they usually eat their favourite food.

Correct Answer :-

» When people go out, they usually eat their favourite food.



17) Change the following direct speech into indirect:

When I called Leo yesterday, he said, "My mother is cleaning the room.”

1. When I called Leo the previous day, he said that his mother was cleaning the room.
2. When I called Leo the previous day, he said that my mother is cleaning the room.
3. When I called Leo the yesterday, he said that his mother is cleaning the room.

4. When I called Leo yesterday, he said that my mother was cleaning the room.

Correct Answer :-
* When I called Leo the previous day, he said that his mother was cleaning the room.

18) Choose an appropriate modal for the given sentence:

I___  travel to any place alone because I am capable of withstanding loneliness.
1. will

2. may

3. shall

4. can

Correct Answer :-

19) Choose the most suitable pronoun for the given sentence:
The screen was lit up, and _____ said: “No school today”.

1.1

2. he

3.it

4. she

Correct Answer :-

20) Choose the most appropriate article in the given sentence.
Do not look directly at sun.

1. no article



2. an
3. the

4, a

Correct Answer :-
o the

21) Choose the option that best explains the highlighted expression:
I have a blind spot where computers are concerned.

1. born blind

2. an aspect difficult to understand

3. a secret place known only to him

4, a silent passion

Correct Answer :-
* an aspect difficult to understand

22) Choose the option that best explains the highlighted expression:
The secretary made a guess at the working of her boss' mind.

1. She had a rough idea of his opinion

2. She was completely unprepared for his outburst

3. She did not care for his feelings

4. She knew exactly how he would react

Correct Answer :-
o She had a rough idea of his opinion

23) Choose appropriate articles for the given sentence:

Did yousee __ film‘__ Sound of Music’?
1. no article required, A

2. no article required, no article required

3. a, no article required

4, the, The



Correct Answer :-

o the, The

24) Choose the appropriate prepositions for the given sentence:

A person who thinks only himself and who has a thirst power will do anything and
will go ___anyone for his gain.

1. for, about, against
2. against, for, about
3. of, against, about

4. about, for, against

Correct Answer :-
« about, for, against

25) Choose the appropriate tense to fill in the blanks in the given sentence:

IfI___ my post graduation, I a professor like my father.
1. had completed, could have been

2. were to complete, had been

3. am completing, would be

4. were completed, would have been

Correct Answer :-
¢ had completed, could have been

26) Choose the appropriate antonym for the highlighted word in the given sentence.

He has an amiable nature liked by everyone.
1. Supportive

2. Arrogant

3. Friendly

4, Hostile

Correct Answer :-



e Hostile

27) Choose the appropriate synonym for the highlighted word in the given sentence.

At the Goat Village, the unassuming animal, the goat, is the mascot.
1. Symbol

2. Curse

3. Demigod

4. Lucky charm

Correct Answer :-
e Lucky charm

28) Choose the appropriate option that rewrites the given sentence in its active voice.

Water logging could not be controlled by anyone.
1. None could control water logging.

2. Anyone could not be controlling water logging.

3. Anyone could not control water logging.

4. Anyone was able to be controlling water logging.

Correct Answer :-
» None could control water logging.

29) Choose the appropriate option to convert the given sentence from direct speech to indirect
speech.

I said to the HR, "It's time to leave.”
1. I said to the HR that if it was time to leave.
2. | said to the HR that it is time to leave.
3. | told to the HR that it is time to leave.

4. | told the HR that it was time to leave.

Correct Answer :-

¢ | told the HR that it was time to leave.



30) Read the sentence carefully and choose the option that has an error in it:

All of the players were animated about the last game of the series, which they expected to be
real exciting.

1. real exciting.
2. about the last game of the series,
3. All of the players were animated

4. which they expected to be

Correct Answer :-

» real exciting.

Topic:- Urdu (URD)

1) .
¢ N D
3 .-:_.KV ,.F//":/J'JL;JJ
N . &
E/.';.I;,a‘a,.,.rlﬁ{_.y( R Y
..' o
1. L:L’

24 |
> o
X
4,

Correct Answer :-

3
2) <«
L;!El};luﬁﬁ'l: JJ/"V;’JJ;I



Correct Answer :-

LS s

3)
r"_.ub.» (o 7 LS ol e

1. ‘"‘l}l’
S

S

4%

4.

Correct Answer :-



Correct Answer :-

wyd

6) - 3 2 %
L S fpd Linr® FISF
1 L blye Tek sl

P'_.l.f&r' vl %}( g_p;ﬂ

2.

| Ll UnfE e

Llf‘l.;rl/rglfl)(u&fujuuwgﬁld;%

4.

Correct Answer :-

Llf.lff')ﬁlflfufﬁujuu“bgmdﬁw

7)

< (L CEU :ff L«IJKL,UJJLM’J;IM'VILJ}J C St

.

. Li.;ffhva;‘.;’y{,ng



e & ik s T,T:(J@-‘lé.,d&ujuﬁbmlw Jemflz

2.

- g .-‘"I -
5 = 4{!#, e

, LL/G}_._}( Ol

Correct Answer :-

LY I AL W)

8) :
< B U Ko N 2 5
Sk
1.
e
2. b
3. ¥
ol
4 -

Correct Answer :-

b



\ :f—u}furk

Correct Answer :-

10

4.

11)

%QL%EE)@J’H& L&.fr,’rfl? ﬁ;ufiufljwlﬂ le
G S S s

el § e ns

e dehnd
, = RINEPDY
Correct Answer :-

AN it sl fbﬁJ{;}L}u;I
wii A AN b



12)

r;;,l,*tfbry(.!:l.aj ik T}’;:L.IJLT%LH.@JJ Lfﬁf

i
1.

2. C’J

. U

Correct Answer :-

13

)
sl JUP
. J__,J;E' LJ{JJJJIL‘:E’J

) b2

; L C Kra

LF vy

4.

Correct Answer :-

.z_';JJb i; Eﬂ,u 8Lz

A



. ;(fl,z;,ré;j
3 P oy
}(ﬁg@;

-
Correct Answer :-

. L™

Correct Answer :-

JUTL')::)j
PR N N
dj Lr'/J.._J LJI Jj v

- -

M

L]
Y

T

A



Correct Answer :-

17)

ﬁ;é}ﬁjﬁﬁﬁfﬁcdi;ﬂﬂ

18) o - - o i
e o P bt F LS ot s

. L:;l /;f”';..j

y $ g2
N LJL;L-)'-'-);P*"
. Jl}Tu)'-f)j

Correct Answer :-

. L,fhéu)'f’;;’*"



I,..-v"
S U oL s
I /:; ::‘_.,..:;Af-ﬁ JJ’I#J

1.
2. |'
3. 242

20)

%EQ—;J,?;UJ:"}:J?;FIJLJJ"EEJJ)(JL?M&Li—t:jﬁ”)(g_ﬁ:;;

e T
. S i

s

2.

- - 3 - = 5,
, ARINELS 7 S s Lru‘fu

Correct Answer :-

- - F-3 - i =,
LY VLY 29 Vo Lru‘fd

C et S 0 S ehottd Lo

AL o g GBIl

1.



it *"Lﬂlﬁl.brfﬂ;u f ;(._., 3 e

L]

L.xqﬂb?l K;.lmj: bl T,,:)/.;_,Lf FEIFVH

3.

,x___,fl;utf I KL&?__,&L!FEIP

4.

Correct Answer :-

f_...frllf’ LI bz:jy-l Jls T,,)( = Fslﬁfz

L,J"’H_.LU/UJ’“UL#”& Ll ;UvﬁLJ/lf f‘u;fuﬂf._ﬁjf’uj
L EE 7
, ij._jj;?

5 S A7
\ - Ty

Correct Answer :-

23



o2

4.

Correct Answer :-

24) P )
- rﬁ_.fdif "UJJIJI%LQ&_JJ,?M
$ 2 547
. L_,/’._.!J_.
&
, {_,"f._.ﬂj,?

T T

4

Correct Answer :-

-
4 P oy

Correct Answer :-



26)

N A
:f_.LfJIJ!LJIjL)]’)KJLJJjE;J

s
. O[5

Correct Answer :-

27)

_ at i &7
cttieende FLJ Fole L il Fripbonin
L}I ﬁg:?‘

1

, ;I,FTC).."')j
3. L’(Lf@:dd'ﬁﬂl
. JBe” s

Correct Answer :-

LJG;:)Z-H,J:”’A

28) :45 > s
i 7 { | e v { ' f
L):L.J’Ji./“’,flgu du e S ag LIVESY
) g_,r,b-""

e



Correct Answer :-

Y

29) - - L .
- LL:[/*’L.:flLlf‘: b e L_J.!"b/duﬁ 1.7

. yrasivy
.

5 Lf'f 17

Correct Answer :-

. u_-u:';u_j_ﬂ_.—?

30) 4 &t
LJ(#{UQ}IEWJLJJEEJJL{WJLH&JJL{WJ;L‘JL}JJJI

}(-.‘.".::"WL;E.;’

1

Sertef e

2

Seouefd s

. )/.*:.fllﬂpf' ;Jlfi}__,rixféi

Correct Answer :-



. }(..‘.".fllﬁ’p(' ;Jlﬁgrixrﬁi

31)
%Cﬁﬂ . }f ,.f-'_',‘: "l s TJL n.}kb( L,,]j{_::;ﬁ

LL,E:J“GJ._J
1.

) Lﬁ'ﬁ.}u&@,l
5 LL,V;AE;L:':;I
. L;WIL&:LJJ

Correct Answer :-

Pl J,.F :'“‘Q; {_::I;I

32)

Sl o E nirt

. ;IJTU)..’;j

2, W
3. W/ o
Sk

Correct Answer :-

;Ide..ﬁj

4.

33) -
r:_.L“L[f[/fU;J;lf,T;“,.:ﬂ}(;“



Correct Answer :-

3l

34) : ‘
JJILWLU’?% L,VLJ_,I_.QJ;;I

< blis . do 50 et

-

e Ustl gz ? Sa

Correct Answer :-

3 =420 ok
< Oty L,f v

35) u_‘fi..t".:.flﬁljd?
L

5 %mbj

3, AU



St
4,

Correct Answer :-

36)
.-;_wil:ﬁ;ﬁl.,,:b ELME";”JU; o ad

1.
2, [

it

. -.:.rljaarl;jfﬂ

Correct Answer :-

37) _ ) g, ) 2
{_.L“tfkuljdl, K}u;légéﬁu.ﬁﬂjﬂ;ﬁ;;

. }(fl,;;:a.‘
2. ’(L"E
}(,.r_._-—*'f‘

Py

FAm

Correct Answer :-

3.

4.



39) . *
u_‘j-’H_.LL:'cL,f:’ELJLﬂ’I“i i&.lluy(u:fluﬁ._}jfu
PR
. L_,/’-_J:!,
, ;'if._j:!f'
&
. Lff -2

Correct Answer :-

40)
)( Ll‘b 2 %r_‘- s ﬁr,%%)cl;'lﬂi £ LY L«L/LJJ v



L.J%II 6T, '5L
-"“"1-.:-“"
N L—/J'L‘a',z"ul.;urujl.
&
; SRS S

r"' e fﬂ " ;s
, & KT (5 72121 ol
Correct Answer :-

ST 5 Ze il J

.
S U ol

P ...ﬂLf;l;j;mé.

N

1.

2. A

Lo
=Y

. A

Correct Answer :-

42)

L)_?L'?LLJI/'F‘JL:‘.:LLL-Sldﬂ;I
4'4.'5 b
| ARG

24

2.



& .o
N Yy 10w,
Pl
4, 27 )'f,

Correct Answer :-

R4

sl r s L.
Ldﬂu:.!”;glf{\_f Jlﬁjﬂjaﬂ
) SATL )~
%

), & C

3. /:L'Ej/f
4. dﬁ?’}uf"

Correct Answer :-

ks
-

A&

44

| IS
L*fJ’fu,g;lﬁ;dui.T:?diiuﬁ..,%

et JELTF B U

) o 2ol as s s M

, WG A

Correct Answer :-



L/ upy(uhlfgdljijjgu‘giuy‘uﬁ)ﬂr

45) .-r ~ . -
%l)” JJ’ e
Lfy'tﬁ‘(
u:xdlpflﬂﬁ

A%y

X

2.

4.

Correct Answer :-

L;f'*?ﬂ;j,-‘

46)

47)

= J 7y e e Efi.f(...f?y%k‘



Y
4, ’

Correct Answer :-

48)

<A
L A6

N ,.;,j— E/L,f}( e

L, 424 SIU

4 J:‘“{ Eluf &l

Correct Answer :-



&‘
t,

S

b4

4.

Correct Answer :-

°F

50) e “
e ;,I;;f_rﬁdbfli.?ip A1k

oy
S

v

*

-

2.

4.

Correct Answer :-

51) o

L)_?,Jl/f:k’:idﬂ‘}};'
44_‘5;‘.11
ARG

5 ;I}Tdﬂ’)j

=

hy

3

Wil

Correct Answer :-

L

AV LR



52) a3
e Qe il fr Ao Fas s

Ll
1. =
2 ""(L;

53) _ - o .. .
< bl T = SIS ol EasS s

L,JJ v
1
7 E‘;{J
4, A

Correct Answer :-

O =k

54) . ee po v 2 oaalat s [ .
:-:_.VGJLMLE}JJ’LJI/{JJJ K LJJ;EJJ

i

N
2. el



Correct Answer :-

[

55) ["" ["" ﬁ-’f - -~ ; N
<ty .lfl/_.t" Wlbesr S = 7 Lﬁp&,ﬁ L,‘*'J 2 Frs L,E;;;l

4.

56)

Correct Answer :-



3.
u{#;_jl}lfﬁﬂ/{’/r#‘
4,

Correct Answer :-

as”ﬁ-*;,uuwﬁ rlf"" H’D

TN AP AT 4
¢

1.

L Gtk oraeliin

;Ijrlf'LEIL{I
3.

M

4.

Correct Answer :-

|



G 22z
1. g

Ll sslbe
2.

L
3. oy

L‘fr:a
4, -

Correct Answer :-
G bl s

60) A o
T:f_.uaga.uj‘h;l;ﬁ/_ﬂ’dqaﬂjj
. J:}Jlft};
o
e

3.



